DIN# ARK Q +38 096 011 01 03

DIN 6921 | BOAT 3 LLeCTUrpPAaHHOK FOAOBKOIO | GAQHLLEM 3yBHACTUM

Poawmip/AiameTp
M10 M12 M14 M16 M18* M20

M10x1,25 M12x1,5 M14x1,5 M16x1,5 M18x1,5 M20x1,5

(M10x1) (M12x1,25) - . . .

d - alametp

P - KpoK pi3bbun

b - AOBXMHA Pi3bbU
dc - AiameTp roAOBKM
K - BNICOTQ FOAOBKM

S - PO3MIP MiA KAKOY

www.dinmark.com.ua

info@dinmark.com.ua




